HDS 9/21 De *CN (1.210-911.0) KARCHER

Professional \ High pressure cleaner hotwater \ Combustion engine \ HDS 9/21 De *CN

50

Valid on 18.12.2024 Page1l/5



HDS 9/21 De *CN (1.210-911.0) KARCHER

Professional \ High pressure cleaner hotwater \ Combustion engine \ HDS 9/21 De *CN

—620

Valid on 18.12.2024 Page2/5



HDS 9/21 De *CN (1.210-911.0)

Professional \ High pressure cleaner hotwater \ Combustion engine \ HDS 9/21 De *CN

KARCHER

POS
999
680
100
490
760
390
520
30
560
550
90
710
250
300
40
200
400
580
790
1000
570
10
620
530
110
230
270
370
1080
240
690
310
700

Article no.

9.761-886.0

9.761-888.0
9.761-668.0
5.471-097.0
9.761-951.0

6.389-263.0
9.751-290.0
7.306-041.0
7.306-047.0
7.306-068.0
9.761-869.0
9.761-372.0
9.761-669.0

6.288-050.0
9.761-915.0
5.664-256.0
9.751-275.3
6.414-413.0
9.761-893.0
9.751-292.0
7.304-400.0
7.304-404.0
7.311-421.0
7.311-425.0
7.311-004.0
7.311-510.0
7.311-511.0
5.044-420.0

Valid on 18.12.2024

Description

Accessories

Battery 12V 36Ah

Blower complete belt drive

Boiler

Cable ignition transformer 3x4 sq.mm
Collar air circulation

Coupler fuel pump

Cover plate

Cover pressure boiler complete

Cutting ring d.4

Cylinder head complete D15 SV ES
Cylinder head screw M8x20 -8.8-A2E ISO
Cylinder head screw M8x60 -8.8-A2E ISO4
Cylinder head screw M10x45-8.8-A2K DIN 912
Diesel engine LC186F

Double nipple 5.409-551.0

Elbow

Electric box complete

Engine oil 1L

Exhaust pipe

Flame tube

Frame complete HDS 9/21 De *CN

Fuel filter

Fuel pump 12V DC

Fuel tank complete metal

Hexagonal head screw M 8x30-8.8-A2E ISO
Hexagonal head screw M8x40-8.8-A2E ISO
Hexagon nut M 5-04-A2E DIN 985
Hexagon nut M6-04-A2E DIN 985
Hexagon nut M8 -8-A3E ISO 4032
Hexagon nut M8-8-A2E ISO 7040
Hexagon nut M10-8-A2K ISO 7040

Holder

Quantity

OB N H B B B B B R R R R R D O0KFRKRNRBRBRR R R R B2 R

[
NN

Page 3/5

Unit Foot note text
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC



HDS 9/21 De *CN (1.210-911.0)

Professional \ High pressure cleaner hotwater \ Combustion engine \ HDS 9/21 De *CN

KARCHER

POS
410

600
1110
220
1150
610
640
210
630
170
420
750
740
440
800
130
510
160
180
260
830
450
660
670
1120
1020
1100
190
50
1130
140
480
350

Article no.
4.037-013.0

6.389-534.0
9.761-885.0
9.761-213.0
7.373-025.0
9.761-690.0
9.761-899.0
6.388-719.0
9.761-898.0
9.761-186.0
9.751-276.0
4.821-100.3
6.622-002.0
9.761-007.0
9.761-674.0
9.751-281.0
6.415-001.0
5.310-062.0
9.761-045.0
6.363-328.0
9.761-022.0
9.751-209.0
9.761-924.0
9.761-925.0
9.751-288.0
9.761-890.0
9.761-947.0
2.997-211.0
9.751-289.0
5.034-494.0
9.761-956.0
9.751-293.0
7.306-217.0

Valid on 18.12.2024

Description
Hook

Hose

Hose clamp ID10 PA66 black
Hose clip

Hose clip A 20-32x9-W4 DIN3017
Hose clip ID 9

Hose clip ID 12.5

Hose DN17

Hose rubber 8x14

Hose stem 30°

HP hose elbow DN8 M22x1.5
Ignition cable complete for replacement
Ignition transformer electronic
Joint ring G 3/8"

Label warning 4in 1

Metal belt set

Nozzle 1,35 60° A

Nut

O-Ring seal 13,3x2,4

O-Ring seal 23.16x5.33

Oil level gauge G 3/8"

Outlet complete hot

Power cable +

Power cable -

Pressure valve complete
Protecting cap red

Protection part

Pump pre-filter small

Pump set

Retaining bracket

Rubber buffer D40x30 M8x18
Safety valve complete

Screw M5x14 -8.8-P2R (In6Rd)

Quantity

1
2,17
1

o

O R A R R R R R R R R R B RBRRBRBRBRRRRRRBRRBRONO®RN
N

Page 4/5

Unit
PC

PC
PC
PC
PC
PC

PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
SET
PC
PC
PC
PC

PC
PC
PC
PC
PC
PC

Foot note text

TO ORDER AS CUT GOODS



HDS 9/21 De *CN (1.210-911.0)

Professional \ High pressure cleaner hotwater \ Combustion engine \ HDS 9/21 De *CN

KARCHER

POS
1030

1060
1040
1050
20
470
150
460
730
540
360
1070
720
290
280

Article no.
7.303-039.0

7.306-090.0
7.306-094.0
7.306-131.0
9.761-926.0
6.414-566.0
9.761-921.0
5.263-064.0
7.312-166.0
6.389-262.0
7.312-002.0
7.312-003.0
7.312-004.0
7.312-066.0
7.312-285.0

Valid on 18.12.2024

Description
Screw M5x16 -St-P2R (In6Rd)

Screw M6x16 -8.8-P2R (In6Rd)
Screw M6x25 -8.8-R3R (In6Rd)
Screw M6x45 -8.8-P2R (In6Rd)
Side plate

Strainer WMS

Support plate engine

Tensioning part

Toothed lock washer A8,4-FSt-A3E DIN 6797
Union nut A 4-LL

Washer 5 -200HV-A3E ISO 7089
Washer 6 -200HV-A3E ISO 7089
Washer 8 -200HV-A3E ISO 7089
Washer 10 -A2 ISO 7089

Washer 10-200HV-A2E ISO 7093-1

Quantity

5

NI—'I—II—lI—'I—IO\wg

N U1 =
= O N

Page5/5

Unit Foot note text
PC

PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC


http://www.tcpdf.org

